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1. Mr. Hamilton is placing a support plank along the diagonal of a gate. The height of the gate is 5
feet, and the diagonal is 1 foot longer than the width of the gate, as shown below.
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2. Which of the following equations best represents the data in the table?
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,A/ y=—2x + 4 —
B. y= 2+ 4
[ y=2x+4
v = x>+ 4
3. The point(3,-1)isona graph of,, =x2 +kex — 4’_What is the value of k?
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4.
What are the algebraic terms in the expression below?
— 32 y3 +Xxy—5

A X,y
B. 2,3, 1,and 1

C. —4,1, _and 5

—-4x2%y3, xy,and -5

5. What is the range of the function in the graph below?

9~voilufs 4
| | |

T

| Lo] |

1

N

£
&

o

IAIN A
LoL

St e et

o 0 @>

all real numbers

6. Suppose fix) =xland g(x) = 2x — 3. What is the value of g(4) + f-3)?
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7. Which statement describes the graph °ff(x) - xl = 03r 3] \
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8. Amil and C * e : \.oé :
el nd Colton had two toy rockets they planned to launch from @, Y&{D\"ﬁk
Ifferent buildings at different times. The height, h, of Amil’s rocket S
laUnC"\e<ifr,0m_thGz,top_o_sz:\vbuiIding after t seconds is modeled by the

equation h = = 16t2+100t +40) where 100 represents the initial velocity in

feet per second. Colton launched his rocket from a building with

a height that was double the height from where Amil’s rocket was CD@

launc_hed. The initial velocity of Colton’s rocket was half the initial

velog:lty of Amil’s rocket. What is the approximate difference in the —\Ut?” + SOt + %
maximum heights of the two rockets after they were launched? v

A 1.6 feet /.\.m\\ N0 CD‘AVD\(\ Lt
B. 40.0 feet gt tay gt
C. 50.0 feet ( 3. \‘:_Q)' Q. ?..‘5:\;/; ( 1.S b ; \a. 7@’\,0 B

77.2 feet | | —

18b.25 -1\, 0 7177. 19

9. Which of the following functions does the graph represent?
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10. What is the number of x-intercepts of the graph of the quadratic function‘f(x) = 9x2 +30x + 2357
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11.
The graph below shows a function f(x).
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Which function has an axis of symmetry at a greater distance from the y-
axis?

Another function g(x) is defined as glx)=x?—6x+10. > .\ oy
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12. Joseph compared the function f(x) = 3x? + 2xg;01/to the quadratic

function that fits the values shown in the tablebelow.
% g(x) gt
0 —1 -\
1 8
2 23
3 44
4 71

Which statement is true about the two functions?
The functions have the same y-intercepts.
B. The functions have the same x-intercepts.

The functions have the same vertex.

o

The functions have the same axis of symmetry.

o

13. A company produces swimming pools. Its daily cost can be modeled with the function P(x)=20x2 —240x,
where x is the number of swimming pools produced. If the company makes at least 1 pool a day, how

many pools need to be produced for the company to break even? S/ "
O
20x*-2o40 x = 0O N2 WO QRN
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14, "f(x) —— xWhat is f{-5)? (‘S 57— _ C_ S>
AS +5 =\ 30 |

15. Me .
gan compared the maximum value off(x) = ~4x2 + 2x + 1 to the maximum value of the function graphed

below,
Y col
B \'@
T ¥
- oUpl-
N
(=t . . NE VS
bt PX) vewttx .0yt
A
What is the value of the smaller maximum?
e — B 5
\_\-a5
16. A quadratic function crosses the x-axis ar(_i o]and (6, 0). Which of the following is the factored
2
form of this function’s related quadrat_ic expression? &
@(3x-2)(x—6) 2. - S \L:@ S S0\
B (3x+2)(x +6) 3 \/ ks K
N ot -L f) AN
o (2x—3)(x—6) 3y = 4 f):‘ e \ — g N %
~ (2x+3)(x+6 )l N T_\DZ ‘ A
\D\ (2x + )(X+ ) e B _@ n (;K\\)\p ] \sL/\Q D “{'\j . Q\) 5
ra — 45 O™ NV
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17. The zeros of a quadratic function are 1 and 7. To which factored quadratic expression is this \,;» ,
function related? I~ N\ g \ ,}
X — f _ ’17/ | '\\f\'}\
A (x=1)(x+7) =V K= 2 AT
. = Va Py
B. (x+1)(x-=7) -\ /‘ s A \\Q
i - il AY)
C. (x+1)(x+7) : T, TR \L_j/ Q .
‘ -1 = = = \J
e xFe e <N
S \ — :\]& N
18. The quadratic expressiontz — 2y — 35€an be factored into (x + 5)(x — 7) Which ordered pairs
represent the zeros of this expression’s related quadratic function?
, A (5 0)and (-7,0) X+\g :-o X _‘ = Q
@/ (-5, 0) and (7, 0) - TS, i 4+ 7
C. (0,-5)and(0,7) >Z L / iicn, Jorwegy
D. (0,5)and (0,-7) e @
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18. Which binomial is factored correctly?

S Bo-Bl=(x-9)+g) V NI
B, 9x-14=(3x=7)(3x+7) bt '((\DG"M LS0S N
Q 10x2 - 9 = (5x — 3)(5x + 3) O\({)’O\ . (\(\C{\D v\»"D“(.:’
D.) 36x2~ 1= (6x= 1)(6x + 1) ‘ A O oalt
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20. What is the complete factorization of the binomial shown below?
2x* — 18 A <\(2_ 3 OD
A 2(x-3) 3
(2x - 9)? /}..._,._I e 9
2(x = 3)(x + 3) \ \ \{':. L 25 | ‘ Tuke AT qu \ L oo
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21. Which expression is equivalent tozx'l — 10x — 48" factored form? - X ¥ " ~
2 P UL T 7o
A 2x+ 2D -12) a (X’L_SX - 2\“}‘5 X ’ \ ‘ /- g\/;: { R
2(x +3)x —8) _ | ) [
v - .._L L 4 /
D. 2(x—-3)x+8) L ) \ il
S 2 12z
22. The area of a rectangle is represented by(x‘2 —14x - “Q)Square units. If the height of the \ —:_;m = \
rectangle is represented by(x 4 2)units, which expression best represents the base of the L~_ - _(‘
rectangle? | ¥ 2 -h o
A (x- 34)un|ts — 4
B. (x-— 7)units X Y z !

C. (x+ 16)units e

(x_ls)units -l\a_ -':)2_ ,
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23. The area of a triangle is represented by the expressmn(_,L + _~< +‘q}\q/lare units. If the length (i; ‘( Y \ {‘j,{ D”\g
4 =
the base is represented by the expression(x + 4)un|ts, mh-expressmn best represents the “‘g“ 1%
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helght of the triangle? | fu (2»::\ A !
A (x+,lJU”it5 + ‘-‘r

3 | T

(x — 2)units

2 2 f T 9__ -
(2x + Lyunits LY &\R’ O\KX ol i l"\/
D. (:_)x.;._;Junits Jr L*-

[y i NS

AN

Math | Outcome 14 Review_Martin Page 7

O schoolr

Scanned by CamScanner



24, . 3
What is 2x° - 13x? + 6x in factored form? X Cg\ﬁl AL = \Ow
X(2x = 1)(x - 6)

B, x(2x + I)(x + 6)
C. x(2x-3)x-2)

D, x(2x + 3)(x +2) X
25. What is«)tS + 81‘2 — 24t in factored form? - N e e
o ) -1 -z |
2t = 2)( + 6) —\ - " |
B. 21t +2)(t—6) N (\L’\OX &-’L\( 3 7 ]
C. 2:(t-3+4
D. 2z +3)(t—4) 2 s
\ — 1 "\“' 2 ['
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